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Introduction

International trade is as old as human civilisation. But, until recently, it 
didn’t amount to much. It didn’t really take off until the industrial revolution 
and the repeal of Britain’s ‘corn laws’ in 1846, which led to a wave of trade 
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Adam Smith on specialisation 
and the size of the market
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 their different arts in order to complete even this homely production. 
How many merchants and carriers, besides, must have been 
employed in transporting the materials from some of those workmen 
to others who often live in a very distant part of the country! How 
much commerce and navigation in particular, how many ship-
builders, sailors, sail-makers, rope-makers, must have been 
employed in order to bring together the different drugs made use 
of by the dyer, which often come from the remotest corners of the 
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Adam Smith on why specialisation by workers is productive

Adam Smith’s explanation of this phenomenal ffac begantwith the 

observation that the total youpouhof any grouphof people will rise if each 

memberhof that grouphspecialises in doing a paArtcular task, as opposed 
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This third reason is mechanisation. Smith argued that as jobs become 
more specialised they become more likely to be mechanised. It’s easier 
to invent a machine to perform one specific, narrow task than it is to invent 
a machine to perform a variety of different tasks. So, when a specific, 
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 freed from farms and factory floors not only become available to perform 
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 Even if global population over the next century holds steady at roughly 
7.5 billion, Merck will then be able to sell upwards of 5 million units of its 
drug. Selling each unit at a price of at least $500 will enable Merck to 
recover its upfront development costs. If Merck is confident that it would 
sell at least 5 million units of the drug at the much-lower price of $500, it 
will develop the drug.6

The general point is that the larger is the number of potential buyers, the 
more likely is a product-development effort that entails large upfront costs 
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 at supplying bananas while Ann has a comparative advantage over 



example more realistic by adding millions of people and millions of goods 

the applicability and power of the principle, because larger numbers of 

people and products mean greater scope for mutually advantageous 

specialisation and exchange.
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In the reality of the modern world - a world in which each good and service 
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 there is any economic change, some people’s economic fortunes wax 
while other people’s economic fortunes wane.

One small sample will suffice. In the late 1990s, in the US, the Atkins diet 
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 pressure on employment in British apple orchards, it puts upward pressure 
on employment in British breweries. In short, Brits bought American apples 
with British-brewed beer and Americans bought British beer with American-
grown apples.

This example, although hypothetical and simple, reveals an essential truth 
about trade: it has no long-run effect on the level of total employment. 
Instead, trade 
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Assuming flexible labour markets is reasonable
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Figure 1: Jobs and the size of the population (thousands)

       Source: BLS, FRED

In Figure 1, we see that the more than 150 per cent increase in the 
size of the US labour force since 1950 has been matched by a 
similarly sized increase in the number of jobs in the US. (The vertical 
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that, in the UK, some jobs in apple orchards have been replaced with jobs 
in breweries, while in America some jobs in breweries have been replaced 
with jobs in apple orchards.9

Nevertheless, those who commit the lump-of-labour fallacy are prone to 
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Trade de�cits
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 month), buy fewer of our exports than we buy of their exports, our country 
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capital-account deficit). As for any country whose citizens make foreign 
investI0d, this ayoflow of [(capit increases that  (count’)17-0.9s currtI0al-accou)-4 0.(gn )]TJ
ET
EMC 
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Suppose that in January the people of the UK import a total of £50 billion 
from abroad.  Suppose also that in that same month the people of the UK 
export the exact same amount - £50 billion - of goods and services. In 
this case, with the value of its exports being equal to the value of its 
imports, the UK’s current account for January is balanced at £0. Further, 
because all of the pounds received by foreigners on their export sales to 
the UK return to the UK as demand for UK exports, foreigners have no 
pounds remaining to invest in the UK. Likewise, because UK residents 
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- returns on the capital account.11 In February, the UK’s current-account 
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 assumption is baseless. Jobs in the domestic economy are created not 
only when foreigners buy more of our exports, but also when foreigners 
invest more in our country. Foreign investment in the domestic economy 
supplies capital to launch new businesses, to expand and to modernise 
existing firms, to fund more research and development, to pay for more 
worker training. The list of possible uses of investment funds is long indeed. 
And each of these uses creates jobs.

When, for example, Ikea opens a store in Edinburgh, this investment by 
that Swedish company increases the UKjr ten <<creases16292moreficit,nt by 
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Conclusion

Trade enriches those who take part in it. Few ideas are less disputed by 
economists. Nevertheless, it is difficult to sustain political consensus in 
favour of free trade. The costs of trade – such as job losses in industries 
where foreign firms have a comparative advantage – are concentrated 
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